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FRML CONSEQ CONS=A+B*GNP;

FRML INVEQ I=LAMBDA*I(-1)+ALPHA*GNP/(DELTA+R);

FRML INTRASTEQ R=D+F# (LOG(GNP)+LP-LM);

FRML PRICEQ LP=LP(-1)+PSIx*(LP(-1)-LP(-2))+PHI*L0G(GNP)+TREND*TIME+PQ;
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FRML CONSEQ CONS-(A+B*GNP) ;

goooo.booboobobobooboodoo,0boooobobobbooobobobo.oboooon
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FRML EQNL LOG(Y)=A+B*X;
(FIMLOOOO SIMLOOOOOD)0OOODO0OO0O FRMLOOOOOOOODODOOOOOO.
FRML EQNL LOG(Y)-(A+B*X);

ogoo0oooooooobo.oobooooodoboooooooboooooo, DIFFEROOOOO
goooooooo.

FRML ZERD A72-A73;

FRML TRIGEQ CO0SX=C0S(X);

FRML TRIGEQ2 COSXY=X*Y/(X*X+Y*Y)*x0.5;

FRML RCONSTR RHO=(2/PI)*ATAN(PARAM);

DOTODOOOOOOCOOODOODOFRMLOOOOODODOOOOO,DOTOOOODOOODOOODOO.
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